PERFORMANCE ENGINEERING FOR GERMAN AUTOS

I AWE TUNING

/NS TALLATION GUIDE

Congratulations on your purchase of the AWE Tuning sport
pedal covers set for VW and Audi vehicles.

Exquisite build quality and attractive design distinguishes

2000+ VW and Audi this pedal kit from all others.
Sport Pedal Cover Set

Contact us with any installation questions.
215-658-1670

AWE-Tuning.com
performance@AWE-Tuning.com

Copyright 2011, AWE Tuning. No part of this document may be reused or duplicated without the express permission of AWE Tuning/Secor Ltd. All rights reserved. Rev2.0



_

clutch pedal cover (optional finish)
brake pedal cover (optional finish)
accelerator pedal cover (optional finish)

Required tools:

1/8” drill bit
5/32" drill bit

clutch pedal adapter 10-32 tap
1/2” long allen head bolt T style tap holder

3/8" long allen head bolt Liquid thread locking compound
1/8” allen key Scribe

—_— N O = = e -

Flat head screwdriver

Optional Accessory: Phillips head screwdriver

1 footrest cover (optional finish) Drill
2 self tapping phillips head screws WD-40
Masking tape

Fine felt tip pen

PLEASE NOTE: While our pedals have been tested under aggressive driving conditions, driving with hik-
ing boots or extensive track use can work loose the rubber nubs from the metal pedal covers. If you in-
tend to drive in these conditions, we recommend applying superglue to the back of each rubber nub before
installing the covers.

. 20000

Remove floor mat. Pull off stock covers on clutch (where applicable) and brake pedals. Using a flat head
screwdriver to pry underneath the covers will ease removal.

Fold over strips of masking tape and place them on the back of the AWE
Tuning clutch and brake covers. Stick the covers as desired on the factory
clutch and brake pedals. Note that the AWE Tuning clutch and brake pedal
covers on manual transmission cars will be taller than the factory pedals.

For VW Mk3, Mk4, and Audi TT:

Temporarily install the cover on the clutch pedal with the enclosed clutch
pedal adapter (two holes) and the enclosed 3/8" long allen head bolts, as
shown in Figure 1. The adapter plate is at the arrow in Figure 1.

When properly installed, the factory pedal is sandwiched between the cover
and adapter.

Copyright 2011, AWE Tuning. No part of this document may be reused or duplicated without the express permission of AWE Tuning/Secor Ltd. All rights reserved. Rev2.0



Once you have verified that the pedal covers are where you desire them to
be on the pedals, support each pedal from behind and carefully scribe the
outline of the bolt hole openings for the covers onto the pedals.

Remove the covers and firmly mark a point at the center of each circle you
have scribed, as shown in Figure 2. Make a firm mark, as this is where you
will start your drill hole (pilot hole). A centerpunch works well for this pur-
pose.

Temporarily place the AWE Tuning accelerator pedal cover in a position that allows sufficient foot space
between the brake and accelerator pedal covers. Further ensure that the accelerator pedal cover is posi-
tioned so it does not hit the carpet when fully depressed.

Once you have verified position, repeat the same bolt hole marking procedure for the accelerator pedal
cover (and the footrest cover if ordered). Outlining the bolt holes with a felt tip pen, instead of scribing, is
easier to do on the factory plastic accelerator pedal and footrest.

e~

Holding your drill steady, drill a pilot hole at the center of each bolt hole outline with the 1/8” drill bit. Re-
peat with the 5/32” drill bit.

Be very careful to drill each hole at the same angle as that will ensure uniform appearance among
the bolts after final install.

If you are having difficulty keeping your drill at a consistent angle to the pedals, especially the brake
pedal, remove the knee bolster below the steering wheel to make room under the dash.

After drilling, tap each hole with the 10-32 tap. Use WD40 when drilling and tapping to make the job easi-
er. Do not tap the holes that were drilled for the footrest cover.

Apply thread locking compound to the 3/8” long and 1/2" long allen head
bolts. Using the supplied 1/8” allen key, install the pedal covers with these
allen head bolts. On Mk3, Mk4, and TT, install the clutch cover as shown in
Step 2.

Using the phillips head screwdriver, install the optional footrest cover with
the supplied self tapping screws.

Be sure not to over tighten the bolts for the accelerator, clutch, and footrest
covers as the factory pedals and base are plastic.

_

Any questions or comments,
please do not hesitate to contact us:

,llAWE TUN/NG 1-888-565-2257

PERFORMANCE ENGINEERING FOR GERMAN AUTOS .
AWE-Tuning.com

performance@AWE-Tuning.com

Copyright 2011, AWE Tuning. No part of this document may be reused or duplicated without the express permission of AWE Tuning/Secor Ltd. All rights reserved. Rev2.0 3



AWE Tuning

199 Precision Drive
,ll AWE TUNING Horsham, PA 19044
PERFORMANCE ENGINEERING FOR GERMAN AUTOS 215-658-1670

performance@AWE-Tuning.com

Thank you for choosing AWE Tuning as your performance automotive parts supplier. Please remember
that a performance car is only as strong as its weakest link. Therefore, it is vital that you maintain your
vehicle to factory specifications.

By installing or using the purchased product, the Consumer accepts this warranty and any specific
Manufacturer warranties enclosed.

Limited Warranty

The following warranty is valid only in the United States.
The Manufacturer’s full warranty applies to all products sold.

Secor Ltd. (AWE Tuning) warrants to the original retail purchaser (Consumer) this product (Sport Pedal
Cover Set) against manufacturing defects for One Year.

Upon verification of warranty coverage, AWE Tuning will repair or replace the defective product at their
discretion, without charge. This is the only remedy the Consumer has for any loss or damage, however
arising, due to nonconformity in or defect of the product. This warranty does not cover consequential
damage, loss of time or revenues, inconvenience, loss of use of vehicle, damage to the vehicle or
components, shipping costs, or other incidental or indirect damage.

All warranties are void if the product was not installed by a certified auto mechanic, improperly serviced,
modified, or used in a way not intended by the Manufacturer. Use of product in Motorsports or Racing
conditions is grounds for warranty denial. Motorsports and Racing is an inherently abusive operational
condition, and it is impossible to warranty for this type of usage.

The Consumer is responsible for ensuring that the product is installed in a safe and proper manner, and
should cease usage of the product immediately if an unsafe or improper condition is noted. If an unsafe or
improper condition is noted, the Consumer should then immediately contact the facility where the product
was installed or AWE Tuning directly.

Please contact the original place of purchase for any warranty claims or explanations of this document.

;

Copyright 2011, AWE Tuning. No part of this document may be reused or duplicated without the express permission of AWE Tuning/Secor Ltd. All rights reserved. Rev2.0



